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SECTION
My Logic lcr: 3
Y=ol I, = 2~ + Ad*

lcr=3000*43.373 + 3000*43.3*(43.3/2)"2 + 5600*(54.5-43.3)"2 + 5600*(167+.5-43.3)"2

12
lcr=168 270 000 mm4

From CSA 23.3-14 on page 6-5 (Table 6.2) Icr:

n=6.2 B=0.0864

kd=52.1mm

lcr=604 400 000 mm4

r=0.8389

52.1mm=kd =/= ¢c=43.3mm???

f'c=50MPa
alpha_1=0.775
beta 1=0.845

STRAIN

T=1904kN

TRESS

Sum=2765-861-1904~0kN Good
Mr=2765kN(167.5-36.6/2)-861kN(167.5-54.5)=

Mr=315.2kNm > Mf Good
Gross Section Cracked Transformed Section Gross and Cracked Moment of Inertia
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Without compression steel

kd = (J2dB+1-1)B

le = bk3d®3+nAg(d-kd)?

With compression steel

r o= (n-1)Ag/(nAg)

kd = [\;'2dE!(1+ rd’/d)+(1+ r)2 -(1+ r)]fE!

Iy = bk3d%/3+nAg(d—kd)? +(n—1)As(kd - ')
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